
3.6 On rappelle que |x| =

{

x si x > 0
−x si x < 0

1) (a) lim
x→0

x<0

x
2 + |x|

|x|
= lim

x→0

x<0

x
2 − x

−x
= lim

x→0

x<0

x (x− 1)

−x
= lim

x→0

x<0

1− x = 1

(b) lim
x→0

x>0

x
2 + |x|

|x|
= lim

x→0

x>0

x
2 + x

x
= lim

x→0

x>0

x (x+ 1)

x
= lim

x→0

x>0

x+ 1 = 1

2) (a) lim
x→2

x<2

x+ 1

x
2 − 4

= lim
x→2

x<2

x+ 1

(x− 2) (x+ 2)
=

3

0
−

= −∞

(b) lim
x→2

x>2

x+ 1

x
2 − 4

= lim
x→2

x>2

x+ 1

(x− 2) (x+ 2)
=

3

0+
= +∞

3) (a) lim
x→1

x<1

x

x
2 − 2 x+ 1

= lim
x→1

x<1

x

(x− 1)2
=

1

0+
= +∞

(b) lim
x→1

x>1

x

x
2 − 2 x+ 1

= lim
x→1

x>1

x

(x− 1)2
=

1

0+
= +∞

4) (a) lim
x→0

x<0

x
2 − 2 x

|x|
= lim

x→0

x<0

x
2 − 2 x

−x
= lim

x→0

x<0

x (x− 2)

−x
= lim

x→0

x<0

2− x = 2

(b) lim
x→0

x>0

x
2 − 2 x

|x|
= lim

x→0

x>0

x
2 − 2 x

x
= lim

x→0

x>0

x (x− 2)

x
= lim

x→0

x>0

x− 2 = −2

Analyse : limites Corrigé 3.6


